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Question Number : 1 Question Id : 645 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

The following key activates "Help" for current open application
Options:
1 v Fl

5 % F2



3 % F3

4 » 4

Question Number : 1 Question Id : 645 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0
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Options:

1. v F1
F2

g X
z % F3
4 % F4

Question Number : 2 Question Id : 646 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

The jobs have fixed deadline in the case of
Options:

| % Time Sharing Operating System

Ty Real Time Operating System

5 % Multiprogramming Operating System

Multiprocessing Operating System

Question Number : 2 Question Id : 646 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0
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Options:
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Question Number : 3 Question Id : 647 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

An interpreter converts a High Level Language program into machine language by

executing

Options:



whole program in one go
e -
5 o I line by line

5 » itword by word

4% it first into assembly language

Question Number : 3 Question Id : 647 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0
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Options:
« UH &R H TYET S9OH &

1
o » TS ET AR
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, = TES AT AN F GREET FF

Question Number : 4 Question Id : 648 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

An application software is meant to carry out operations for

Options:
, % many applications

o o One specified application
s u the whole system
, % hardware

Question Number : 4 Question Id : 648 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 5 Question Id : 649 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

Pressing Ctrl+Tab

Options:



| % reboots the system

> « refreshes the page

_— switches between open applications

L% renames selected icon

Question Number : 5 Question Id : 649 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

Ctrl+Tab a3 ®
Options:
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Question Number : 6 Question Id : 650 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

A spreadsheet does not allow
Options:

| % manipulation of data

, ® generation of graphs

2 anunarions

L charts

Question Number : 6 Question Id : 650 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 7 Question Id : 651 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

For creating a new document. we should press



Options:
o of Ctrl+N

2 8 E- tll_D

4 % AIHK

Question Number : 7 Question Id : 651 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0
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Options:

, » Ctrl+Alt
5 « CtrI+N
z % Ctrl+O
4 % Alt+K

Question Number : 8 Question Id : 652 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

To reset the highlighted text to the defanlt font. we press

Options:

, % AltK

2 Ctrl+Spacebar

4, x Cul+Fl

Question Number : 8 Question Id : 652 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0
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B zEa

Options:

, = Ctri+Alt
> ® Alt+K
-  Ctri+Spacebar

, % Ctrl+F1

Question Number : 9 Question Id : 653 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

Holding ‘Shift Key” will lead the system to

Options:



| w Create of backup

5 o boot safe mode

= % Open a font dialog box

4% close current window

Question Number : 9 Question Id : 653 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0
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Question Number : 10 Question Id : 654 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

MS-Word allows creation of type of document by default.

Options:
| -doc

> ® xml
5 x -dat

4w Xt

Question Number : 10 Question Id : 654 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
1« -doc

> % .xml

ou D

Question Number : 11 Question Id : 655 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A typical worksheet has number of columns.

Options:
, = 128



5 o 256
5w 512

, x 1024

Question Number : 11 Question Id : 655 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Ts g&9T Feefie H FoH AT E |
Options:

. % 128

. v 256

z % 512

4 % 1024

Question Number : 12 Question Id : 656 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The small pictorial representation of objects seen on the desktop are known as

Options:

1 « lcons
- x List View
5 % File Menu

4% Taskbar

Question Number : 12 Question Id : 656 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

e W fewa B B FEed & |

Options:
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Question Number : 13 Question Id : 657 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What is it called when you remove some information from a file or remove a file from

the disk?

Options:
1 % Save



o % Edit

3 o Delete

4 % Saveas

Question Number : 13 Question Id : 657 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

Question Number : 14 Question Id : 658 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The key used to refresh the contents on the desktop is

Options:

> % F3
5 o 5
4 = F4

Question Number : 14 Question Id : 658 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
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4 » F4

Question Number : 15 Question Id : 659 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

What do you do when you make changes to a document?

Options:

| % Drag



, » Click
3 Edit

4 % Copy-Paste

Question Number : 15 Question Id : 659 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

L w 3T

. x [l

3.'@"13%3

4 ® FAT 9ET

Question Number : 16 Question Id : 660 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

1s a process of carrying out commands.

Options:
L ® Fetching

-  Executing

5 % Storing

4 % Decoding

Question Number : 16 Question Id : 660 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

Question Number : 17 Question Id : 661 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What is the feature that adjusts the top and bottom margins so that the text is centred
vertically on a printed page?

Options:

e Vertical justifyving



5 % Vertical adjusting

2 ® Dual Centering

4% Horizontal Centering

Question Number : 17 Question Id : 661 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 18 Question Id : 662 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Which of the following is a point and draw device?
Options:

1w Mouse

. » Keyboard

3 % Scanner

, % CD-ROM

Question Number : 18 Question Id : 662 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 19 Question Id : 663 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

In Power Point. where are the Header and Footer buttons found on Insert Tab?

Options:
L% Ilustrations group



> % Object group

o Text group

4% Table group

Question Number : 19 Question Id : 663 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 20 Question Id : 664 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A typical slide in a slide presentation would not include a
Options:
| % photo image

graph
5 % clip art

4. ¢ content template

Question Number : 20 Question Id : 664 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Question Number : 21 Question Id : 665 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

To find the Paste Special option. you use the clipboard group on the tab of
PowerPoint.

Options:

L % Design



5 % Page Layout

Ty Home

4 % Insert

Question Number : 21 Question Id : 665 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
| % BT
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Question Number : 22 Question Id : 666 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

When entering text within a document. the ENTER key 1s normally pressed at the end
of every
Options:

, % line

> % sentence

o paragraph

4 R word

Question Number : 22 Question Id : 666 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

1 ® 5”3“

Question Number : 23 Question Id : 667 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which PowerPoint view displays each slide of presentation as a thumbnail and is
usetul for rearranging slides?



Options:
. ol Slide Sorter

> % Slide Show
5 u Slide Master
4 % Notes Page

Question Number : 23 Question Id : 667 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
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Question Number : 24 Question Id : 668 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What refers to a set of characters of a particular design?
Options:
, = keyface

> % formation

5 calligraph

4 B stencil

Question Number : 24 Question Id : 668 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 25 Question Id : 669 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Which part of computer is used for calculating and comparing?



Options:
2
, & ALU

_ Control Unit
> ®
5 s Disk Unit

4 % Modem

Question Number : 25 Question Id : 669 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 26 Question Id : 670 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

is a technique that is used to send more than one call over a single line.
Options:
| % Digital Transmission
- w Infrared Transmission
5 % Digitizing

s Multiplexing

Question Number : 26 Question Id : 670 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Question Number : 27 Question Id : 671 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following must be contained in a URL?

Options:



a protocol identifier

. the letters ‘www’
> ®

_ unique registered domain name

‘www’ and the unique registered domain name

Question Number : 27 Question Id : 671 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 28 Question Id : 672 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following cannot be a part of an email address?
Options:
R Period (. )

5 % At sign (@)

5o Space ()

Underscore ()

Question Number : 28 Question Id : 672 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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| % NREE ()
Ly TR (@)
e B ()

x FSTERR ()

4.

Question Number : 29 Question Id : 673 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A allows you to access your email from anywhere.

Options:



, % Forum

5 % Weblog

. Webmail Interface
3 v

« Message Board

Question Number : 29 Question Id : 673 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 30 Question Id : 674 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

a document means the file is transferred from another computer to yvour
computer.

Options:
5 Uploading

, Accessing
» Upgrading

4  Downloading

Question Number : 30 Question Id : 674 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:

, % TSI (Uploading)
» TFETET (Accessing)
., FTATET (Upgrading)
» ST3ae=er (Downloading)

2.

- §

4.

Question Number : 31 Question Id : 675 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



allows users to upload files to an online site so they can be viewed and
edited from another application.

Options:
i General Purpose Application

5 % Microsoft Outlook
, Web-Hosted Technology
5 3

4% Office-Live

Question Number : 31 Question Id : 675 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 32 Question Id : 676 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Which of these is not a means of personal communication on the Internet?
Options:

| % chat

5 % e-mail

2 mstanotes

4% instant messaging

Question Number : 32 Question Id : 676 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
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Question Number : 33 Question Id : 677 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

are specialised utility programs that are made to use the Internet and Web
easier and safer.

Options:
, % Telecom

&' Web utilities
2 % Norton utilities

4% Web firewalls

Question Number : 33 Question Id : 677 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 34 Question Id : 678 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A program that is used to view websites is called
Options:
| % word processor

5 % spreadsheet
5 o DrOwser
4 % Web viewer

Question Number : 34 Question Id : 678 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 35 Question Id : 679 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A(n) is a computer network that allows controlled access from outside of
an organisation's intranet.

Options:
L % protocol

> » frewall

2 extranet

4% intranet

Question Number : 35 Question Id : 679 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
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Question Number : 36 Question Id : 680 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

When displaying a web page. the application layer uses protocol.

Options:
» bhttp

o % SIIp

3 & ip

., both smtp and ftp

Question Number : 36 Question Id : 680 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
; « http

x sSmtp

s



4,  smtp 3T ftp gt

Question Number : 37 Question Id : 681 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

To reload a web page. you press the button.
Options:

, ® redo

>  refresh

- w restore

4 % Ctl

Question Number : 37 Question Id : 681 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
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Question Number : 38 Question Id : 682 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

If you are going to a site you use often. instead of having to type in the address every
time. you should

Options:
, % saveitasafile

5 % make a copy of it

=  Dbookmark it

4 w deleteit

Question Number : 38 Question Id : 682 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:
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Question Number : 39 Question Id : 683 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

The shows all the websites and pages that you have visited over a period of
time.

Options:
, = status bar

5 % task bar
5 % tool bar

S history list

Question Number : 39 Question Id : 683 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Y% ZANT UF FHT HA #H W@ v weft S9wEe v o= fTwrr g

Options:

1 ® QE'H'E'IT
5 % CIteh ST
5 % g\?rm

4 v BRI AR

Question Number : 40 Question Id : 684 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

In the URL. the scheme is followed by

Options:

o)
wil

1.9

2 8

3 %

lII
!

" i

Question Number : 40 Question Id : 684 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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4 % 5’J

Question Number : 41 Question Id : 685 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

1s the incoming E-mail server.
Options:
1 « POP
> % SMTP

= % SMIP

. % PPP

Question Number : 41 Question Id : 685 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

, v POP
- % SMTP
= » SMIP
48 PPP

Question Number : 42 Question Id : 686 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Wi-Fiuses
Options:
| ® optical fibre

5> % sound waves

2 % phone lines

radio waves
o

Question Number : 42 Question Id : 686 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 43 Question Id : 687 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The process of trading goods over the Internet is known as
Options:
« E-Selling

i
5 % E-Buying
5 % E-Finance
4 w E-Commerce

Question Number : 43 Question Id : 687 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

4 v SFHE

Question Number : 44 Question Id : 688 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following is not a part of E-mail address?

Options:

.. Usernaie
1. ®

5 % domain name

7 protocol

& both username and domain name

Question Number : 44 Question Id : 688 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 45 Question Id : 689 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

When sending an e-mail, the line describes the contents of the message.

Options:
g subject

- % content

= % 1o
4 % C{?

Question Number : 45 Question Id : 689 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0
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Options:

1_¢;Q:lm
5 % FEC

3_$$§
4 % CC

Question Number : 46 Question Id : 690 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which one is the slowest internet service from the following?
Options:

, % DSL

> % L1

- w» Leased line

i Dial up service

Question Number : 46 Question Id : 690 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 47 Question Id : 691 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A network device that establishes an intelligent connection between two local

networks with different type of cables is
Options:
| % Hub

5 w Switch
ide
n v_;BndL_.e

4 % Repeater

Question Number : 47 Question Id : 691 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 48 Question Id : 692 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Which utility do you use to transfer files and exchange messages?

Options:
1 ® WWW

> # Wweb browser
5 o ©-mail
4% hypertext

Question Number : 48 Question Id : 692 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

FIZA! F IEHT TS AU F TFAA H H gH PieTdl Jieforer
39T FHIAT =AMET?

Options:
1 & WWwWW

- % AT FEW
S.v;'é-m




, % BIBUCHES

Question Number : 49 Question Id : 693 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

To reduce the work of memorising e-mail address, we should use

Options:
, ® Dbrowser

5 % search engine

5 w Dirthdate list

_address book
4 ¥

Question Number : 49 Question Id : 693 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

UF A TEH F UG FI H GALA F IFNT U g FH Trder gaeT
FTAT TAMET?

Options:
1 ® CIEIC R

33.332%?%?
4.*:?133-&-%

Question Number : 50 Question Id : 694 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

An e-mail account includes a storage area. often called a /an
Options:
attachment

5 % hyperlink

5 o mailbox

IP address

Question Number : 50 Question Id : 694 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

T $-Hel HFBC H 94 g NS H1 FT Fad 87

Options:

1_&33‘]%3#
z_wiﬂgqﬁ#

LT

S_Jﬁ?—rm




4 % P vzH

Question Number : 51 Question Id : 695 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

To close a {file inside a program. is used

Options:
1. % Es
, w Alt+F4
5 o CtrHF4

4 % ESC

Question Number : 51 Question Id : 695 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A % 3¥ee{ BIEd & 8¢ Fid & o T 39T fFar Srar B
Options:

| » F4
o Alt+F4
. v Ctrl+F4
. % ESC

Question Number : 52 Question Id : 696 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The area in windows where date and time are displayed is

Options:

e Task bar

. % Toolbar

- % Stafus bar

4 % lcon

Question Number : 52 Question Id : 696 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

e &1 a7 a7 § a7 feae 3 gaw weitia aar & |
Options:
| o CIERET

EREI“[
4 % FTSHIA



READING COMPREHEMNSION

Section Id : 55

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5.0
Sub-Section Number: 1
Sub-Section Id: 55
Question Shuffling Allowed : Yes

Question Id : 697 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No
Question Numbers: (53to 57)

Cuesticon Label | Comprehension

The private sector has today reached a stage of development and expertise where it can make
a massive contribution to the country’s further economic development. The majority of India's
entrepreneurs. large and small. are patriotic men who do not ask for special favours or large
profits. nor do they seek monopolies or any concentration of wealth and power. What they want
are the opportunities to exercise their initiatives. their skills and their resources for the benefit
of their stake holders and above all. to be allowed to get on with the job. Yet. mistrust of the
private sector. particularly in large-scale industry. has been such as to impede seriously
economic growth in the sixties and i1t now threatens to make it umpossible for it to meet its
target in the cwrrent plan.

If we. in private enterprise. are to play our legitimate role in the decade to come. if is
clear to me that we must prove to the Government. to the Parliament and to the public in general
that we deserve to be trusted. There is also the opposition from socialists in our country who.
though opposed to violence and regimentation of communism. accept its economic policies in
the mistaken belief that private enterprise is incompatible with the achievements of socialist
goals and that even if it were. Indian businessmen and industrialists do not believe in those

Sub questions

Question Number : 53 Question Id : 698 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The majority of Indian entrepreneurs want

Options:
, % fomonopolize the trade

> % toconcentrate wealth and power

- % toexploit the workers

e, to use opportunities. their talents and resources for the benefit of their stakeholders

Question Number : 54 Question Id : 699 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



The Socialists oppose the private sector because
Options:
, w it exploits the workers

s they think that entrepreneurs cannot achieve the Socialist goals

5 ® they believe in Marxist ideology

they think that private sector should not be trusted
4 %

Question Number : 55 Question Id : 700 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What impeded the economic growth in the Sixties?

Options:

L% the non-availability of the raw material

5 % strikes and lock-outs in the industries

the faulty planning by the Government

2 the mistrust of the private sector by the Government
4.

Question Number : 56 Question Id : 701 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The Socialist think that Indian businessman should not be trusted because

Options:
e they do not believe in socialist goals and are unwilling to make any sacrifices

5 % they only calculate their own profit

_— they exploit the economically weaker section of the society

& they do not think about the general good of the society

Question Number : 57 Question Id : 702 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Private sector can contribute to the economy because of

Options:

L % market driven economy

cglobalization
g ® =

o disinvestment policy

e the expertise it has acquired

Question Id : 697 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No
Question Numbers: (53 to 57)
Cuesticon Label | Comprehiension



HIS JTEae &7 sy T SoFeedt % 30 HHE W 9T T § @ W TE
g F AT FH 7 vF 99 T INEE W TFAT ¢l FNF F T2 A BR
3CTAT, FT UF 27 FTAT SANFT § AT FAWITFR 1 73 AT FT J1T AT Fa,
T & 37¢ THIUSR @ I 90 HIT 9/9g FT F1T TF-gu1l 3=¢ T Al =30,
HUA HIAF TF {4 TEAT W HURG  3eTH T FF F F H04 Fauwsr #
A= e &, 3R 54 Ta@ W, A9 F4 # JE A HT JgAS Hoad Fl
T oft, grEde &7 v ATy (@raet 73 9 f S W) A7 916 F AF
H A% Feicall # Fae 91 Fam 3R S gaFea O F @87 # of qu
d F 9 F AHATRA FA SE HAEE FATT YEr FT @R HA A g H,
3T TH, GIS9C ST H UF 3T TEN ST AT £, T UF 99 HF & &F
BIFI F, HES F, TF 3H FJdT FT T I1F Hiad FaT 2900 F 77 Feamgas
g1 9=ae 89 F1 fF0y 39 gatsafEat ¥ ot AT &, 3 g & B v9 mEmEe
F HPemEa % Ol 2, 5% 7 # e s Afoat A o € % rsae ey
OIS+ F597 & 3Tafeuat & Fiiad J47 § 3T 39w § o a1, a7
3RS 3% F&d FT Far Aldq U IroIa &1 FT A1 721

Sub questions
Question Number : 53 Question Id : 698 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

AR 3eATHAT FT 727 Fow GEar & fF

Options:

| % SUR UHIUHT FT o
o » U 3R AT FT FeRRIOl
5 % HTHRT FT AMTOT

IS HIAA TF THTIAT T FART FIA FT Tk AR Her F0 FoT ar
4 v F9 TETURET T sTATlead T Heh

Question Number : 54 Question Id : 699 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

TATAIRET 91292 &7 &1 &30y =9 § Fiis

Options:

. x 3 HTHPT FT MwoT FI &

, o 3¢ o9 g T 3T WA qEd F AT 9T FhA
. » d AFEAET FERYRT # 79T 8

L » TS § T urEde &7 eI oy 74 8

Question Number : 55 Question Id : 700 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0




TS & ok H AT g # forger a e =reir of?

Options:

|« H=d AT FT I T

> % FREEAT H g€ TF g1l

5 % FIHN Fr T Afaar

4 v TR T 9Eae 87 T HEead

Question Number : 56 Question Id : 701 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

HATSIRET 899 § & AT a9 s8AS J61 & Faie
Options:

| » S BATSAET F687 # Th F81 W TF 1T HId H ad8 78 8

, w 3¢ T4% 39T Hraer fgwar g
. x T HAE T F FAAN I F S & AWT FT &
4 % T TATH FT el FAal TS

Question Number : 57 Question Id : 702 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

gr=ae &Y 5F Ot ¥ g H AR Y 59 27

Options:

1 % TR Tfeg degaEa

. % FeFTEIOT
g_wﬁiﬁ-’lﬁ'ﬂ?ﬁﬁ'
4_Ja'::§?amma‘r31qﬁrmﬁr%

CUANTITATIVE APTITULE
Section Id : 56
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6.0
Sub-Section Number: 1
Sub-Section Id: 56
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 703 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What is the unit digit in (4137)7%*2



Options:

1.%»31
2.%33
3 ®

4

Question Number : 58 Question Id : 703 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

(4137)7°* ST SHFF HF FAT g2
Options:
1. %

o W

o %

w0 - W =

4. ¢

Question Number : 59 Question Id : 704 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

On dividing 2272 as well as 875 by a 3-digit number N. we get the same remainder.
The sum of digits of N is
Options:

1w 10

> % 11

.o 12

-t

Question Number : 59 Question Id : 704 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

2272 ug 875 Fr 3 ¥ Fr #=aT N ¥ Faferg &3 W &7 THaAT
Y 9ToF 21T gl I&ar N & 30T T IIeT 2ram|

Options:

1w 10
> % 11
= % 12
4% 13

Question Number : 60 Question Id : 705 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Whichtermofthe AP: 21,42 63 .. ... .coiviiiianannnn. is 2107



Options:

1$3 gth

th
z.v*m

w120

Question Number : 60 Question Id : 705 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

HeariorarT FATET A0fr (AP): 21, 42, 63.... &7 Hi=ar 9g 210 &2
Options:
1 ® gEIT

3 % 1131
4 % l2ar

Question Number : 61 Question Id : 706 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Find the n® term of the sequence 1. —4. 9. -16. ..
Options:
;% 32

o

% I

- % <0

(-1) (n)?

4

Question Number : 61 Question Id : 706 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

I IEICG HHH H 93T 9 FIT grEM?
Options:

1% 32

> % N

4o (1) (n)

Question Number : 62 Question Id : 707 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

From a point P on a level ground, the angle of elevation of the top tower is 30°. If the
tower is 100 m high. the distance of point P from the foot of the tower is



Options:
| % 149 m

5 % 123 m

2 o 173 m

4 R 210 m

Question Number : 62 Question Id : 707 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

s 9 P g ¥ v $ART F oM 30° F 3e=a HI0T FAGT gl HN
3H|{d#f&ﬂié100?ﬁ'.%,H*Pﬁgﬁmﬂ?ﬁﬁqﬁﬁﬁ?ﬁﬁ?ﬁ?

Options:

.« 149
> % 123 #.
. 173 &
i% 210 3%

Question Number : 63 Question Id : 708 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A man standing at a point P is watching the top of a tower. which makes an angle of
elevation of 30° with the man's eye. The man walks some distance towards the tower
to watch ifs top and the angle of the elevation becomes 60°. What is the distance
between the base of the tower and the point P?

Options:
& 4 units
~ % 8units

2 % 12 units

- Data inadequate

Question Number : 63 Question Id : 708 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Tk AT P g 9T @I g U SANT & ofiY &r 2@ &T g, ST JSAT
Fr @ T 30° FT IeATad FIUT 4T BT 2 FSH SART Fr HT HTeT F2a1
g 3T 31w 37 ofiT & | 60° F 3eATT HIUT TAT TET ¢l TART & HTuN
ik P g & @ & it e e

Options:

13343;\%2-
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GEMEREAL MEMNTAL ABILITY AND REASCRMING

Section Id : 57

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6.0
Sub-Section Number: 1
Sub-Section Id: 57
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 709 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

In a certain code. DOWN is written as 5139 and NEAR is written as 9486. How 1s
RODE written in that code?

Options:
| 6154
, % 6451
5 » 6541

4 % 9154

Question Number : 64 Question Id : 709 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

ts faferse &l & DOWN =r 5139 for@r =rar & 31t NEAR &r 9486
T =T 821 38 1T # RODE # frg v frar smem?

Options:

, v 6154
> % 6451
5 % 6541
, « 9154

Question Number : 65 Question Id : 710 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



Three of the following four are alike in a certain way. Which is the odd one?

Options:

o Wood

- % Table
2 % Chair
4% Desk

Question Number : 65 Question Id : 710 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

I H AT 5 F T 8 v J 2 A F gEEiaT

Options:

1_-‘;?3?!?_5"»1'
, % L]
Fgt

T ® 2

4% P2

Question Number : 66 Question Id: 711 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Insert the missing number: 2, 4, 12, 48, 240,

Options:

% 960

, o 1440
. x 1080
4 1920

Question Number : 66 Question Id: 711 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

2. 4, 12, 48, 240, "o g3 a7 FIT gEm?

Options:

| % 960
, » 1440
- % 1080
, % 1920

Question Number : 67 Question Id : 712 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



The following pie chart shows the percentage of Literate and Illiterate Males and
Females in the city. What is the difference between number of Literate Males and
Literate Females?

Miterate
Female a9

Options:
, = 7500

5 & 5000

Question Number : 67 Question Id: 712 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A= fem ar 9% 9 v o A wei A Aen v A Afensdt @
gferera gom @ 21 WER 9w 3R wew Afgersd f g 7 Faar

oo JHEe T = z,ﬁﬂ,ﬂm

Options:

. % 7500



- v 5000
. x 5500
. % 2500

Question Number : 68 Question Id : 713 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Vaibhav walked 25 metre towards South. Then he turned to his left and walked 20 metre.
He then turned to his left and walked 25 metre. He again turned to his right and walked
15 metre. At what distance is he from the starting point and in which direction?
Options:

: 35 metres-East

5 % 60 metres-East
- w 33 metres-North

40 metres-east
4 ®

Question Number : 68 Question Id : 713 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

de79 EfEyor &7 HR 25 #Hex Far | AR 37 7% 3R {3 F 20 Hex = |
T8 R & 39elt 9% 3R JEr A 25 e gor | 3@ R & H9e g

3R H3r AT 15 Hex e | 9 e g & fraed gt . 2 Ak few
feem 7 87

Options:

35 HAer aF
. 60 Hex =
» 35 HET 3=
.« 40 Hrex g7

b,

z.

- §

Question Number : 69 Question Id : 714 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



Sales (in Lakh number of packs) of five different products of a Cosmetic Company
during 2009 to 2014 (Green bar representing 2009 and Blue bar as 2014)

60
)
S 5 48.17
o
5
5 4D 37.16
o
5
Z 30 28.14
=
=
L 20.15
£ 20 14.97
3 ] m3‘12,.21 —
@ 10 5.93 ' I c 01
: C il =
Lipsticks Mail Enamels Talcum Powder  Shampoos Conditioners
Products

E2009 m2014

The sales have increased nearly by 55% from 2009 to 2014 in the case of

Options:
, = Lipsticks

- % Nail enamels
2 ® Talcum powder

i Shampoos

Question Number : 69 Question Id : 714 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



U HITHTETH FIAT & 9T 37T FeTT 3carer T e &Fhr (am S5
Fr gEgr #) T 4T gl (@ 927 2009 T AR 9¥7 2014 g9 B 8)

48.17

40 37.16

™ 28.14
20,15
2 14.97 P
g 10.19
0 5.93 . I 501

[OUEd  Ad 3980 ahA 95T kipas) FaH

[==]

Ferdhy (we Aok &y JaaT #J)

(-
E

o

2009 ® 2014 T & foRwehr fosht & oemsrer 55% # I g5 &7

Options:

,  TodfEeF (Lipstick)

, » A FAAS (Nail Enamel)

- % ColRA T138T (Talcum Powder)
s Q‘\Tﬂ'\ (Shampoo)

GEMERAL AWAREMNESS

Section Id : 58
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6.0

Sub-Section Number: 1

Sub-Section Id: 58

Question Shuffling Allowed : Yes



Question Number : 70 Question Id : 715 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

The power to increase the number of Judges in the Supreme Court of India is vested in
Options:

i the President of India

5 % the Law Comimission

- the Chief Justice of India

et the Parliament

Question Number : 70 Question Id : 715 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

T & 3=U9F ~OTOTed H SraneTet i §Ear T FT HATET
=aoea # 8 e g 22

Options:

| » AR & Tsgufa
, x e ITART
S:I'IQ?I'#J:I_AM =araefTer

o R

, v TS

Question Number : 71 Question Id : 716 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

International Yoga Day was observed on

Options:

” ¥, T i 5
1%,_1‘1111&-131_

5 % 01 June 2015

3 % 10 June 2015

4 % 31 May 2015

Question Number : 71 Question Id : 716 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Fasdrm O fEEw frm e merar s

Options:

o 21 5 2015

. 01 3= 2015
Z. i

. » 10 5[ 2015



. % 31 &S 2015

Question Number : 72 Question Id : 717 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Who was the founder of the Asiatic Society?
Options:
s William Jones

5 % Mahatma Gandhi
> % David Hare

LE William Carey

Question Number : 72 Question Id : 717 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

cforafes @EEdr & gras S 42

Options:

| v &\ Few
g_amﬁtﬁ
B.Qﬁgm

. w EformE &

Question Number : 73 Question Id : 718 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The term 'Marginal Standing Facility Rate' is used in relation to

Options:
L ¥ banking operations

5 % communication networking

military strategies

supply and demand of agricultural products

Question Number : 73 Question Id : 718 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

W Tl gieer (Ao 2Er SR ©) #7199 e gt
7 fmar Jmar 22

Options:

| ST FTATOTET
o » HAR ATTH



. » BT IO
, % BT 3CTEN H AR T g

Question Number : 74 Question Id : 719 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following was the first Indian geostationary satellite?

Options:
| % Rohini

5 % Arvabhatta
5 o APPLE

_ INSAT-1B
4 ®

Question Number : 74 Question Id : 719 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

fFfef@a # & #ia 9@ aRd - 3T or?

Options:

| w Qfgol

Question Number : 75 Question Id : 720 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which one out of the following programmes has not been started by our Prime Minister
Narendra Modi?
Options:

Swacch Bharat Abhiyan
1 ®

- % Jan Dhan Yojna

_ Sarva Shiksha Abhiyaan

2

Pradhanmantri Pension Scheme

Question Number : 75 Question Id : 720 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

ol siwal # & vF Tu=AS A A @R A AT AT AT E
Options:

AT ARG HHATT

1



. x J GF AFAT
. » TF R aftes
4 % TUHAST 9 Jr=aAT
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Question Shuffling Allowed : No

Question Number : 76 Question Id : 721 Question Type: TYPING TEST



This happened a long, long time ago, when the cedar, the fir, and the pine still had needles that yellowed and
dropped in the autunn instead of staying green all winter. One day, in those olden times, a hunter went out
into the woods to catch something for his tribe. He was the cleverest and bravest hunter of his tribe, but game
was scarce, and so he walked and walked. He went farther than any hunter had ever dared to go, until he saw
a bog 50 vast that no beast could have crossed it, no bird could hawve flown across it, only the frogs would be
able to see what was on the other side, and they weren't telling. The hunter thought to himself: If the animals
here can't cross this bog, what kinds of animals might live on the other side? The more he thought about it, the
more curious he became. ' must find out," he said to himself. "Whatewver happens, [ must get to the other side "
And so he took a good running start, and leapt clear across the bog. He looked arcund in exciternent, but
everything locked the same: the same earth, the same grass, the same trees. "Silly mel” he said. "There was no
need to risk my life." Suddenly his mouth dropped open with wonder. In a little clearing stood seven rabbits.
They were standing quietly, waiting, but they were harnessed like horses. Suddenly seven people carne out of
severl burrows in the earth, exactly like all people, only they were tiny, miniature people. In fact, only when the
rabbits flattened their ears, were these little people taller than the rabbits, but when the rabbits' ears stood up,
the people were srraller than the rabbits. "Who are you?" asked the hunter. "A terrible, huge beast has corme
into our land. We don't know where it came from. The other day it caught one of our people and killed him. We
are immortal, we never die ourselves, but this beast killed one of us. You are a hunter---can you help us in
this trouble? Can yvou hunt down the beast? "I don't see why not." answered the hunter, but to himself he
wornderad: "Will [ be able to kill such a frightful beast?" However, he was a hunter, the best of his tribe, and so
he weenit out to track the beast. He looked and he locked, but could find nothing except the footprints of rabhbit.
Just as he was about to give up, suddenly, among the rabbit prints, he noticed the track of a sable. "Oh, that's
too fine a quarry to miss" he said. "First [ will trap the sable, and then I'll go on locking for this terrible, huge
beast. "He found the sables track, set a trap and killed it. Then he skinned it and wernt on with his search. He
walled the length and breadth of the little people's land, but could not find any trace of the beast.
Disappointed he came back to the little people and said to them 'T could not find your terrible, huge beast. All
I hawe found was this sable. " And he showed thern the little sable skin. "We are the people," said the tiny men.
"We are irmrmortal. We wash ourselves in living water, and we never die. And who are you? "1 arn a hunter.” The
little men Clapped their hands with joy. "Oh, good! Oh, good!” they cried in chorus.
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